EARAROBREBRT —5 XN—ZXBISH—F 2023511838 (&) 15@P513H

8 I BCF—IESPATAT!48] B3 US%—& ‘ (R 65 ‘ (Sl — | 5 10000 FEE
[AXE%) 1 %&:550,00 9 ~ 2%&:154,000H  3%:116,000H  43#%:77,000H 53 :38,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=S P57 — 4 3 E@ZK 1:01.7 1-1 37.6| — 1 492 | REHRL (JbEs)
1110112E7—% 54.0 (=) 4o | B HBEALUS
RiRLVTAY BNLRY ~O—T FERARIS
= =SS :01. - . - WAEL Jss)
N BEE . s | 5% e |2z (ws) - |5 | e SREE dom
R:ILEAVITYR Biv—<VSILT1— O 8=
R BREFF :02. - . - HPIEZ (JtisE)
3l5]5 JAILRSY 4 8 57.0?' 1(??/24)1 11-8 35.9 4 (4+764) e )
RIIZART—IWYF— BAVINU—FY VYA FHS
— A w 4 6 | BHFE 1:02.5 9-8 37.0| - 10 a6 | EZARER (JbisE)
N o Bl 55.0 o) ) |PTVY—EZ #)
RIXYVFORN— B3V VF«F NYVERTT—L
— so4 | BRERIESE 1:02.6 8-8 37.3| - 6 | 486 |JISEA (LimE)
517{10|=>/77 55.0 ) (g |BLET
RiRLVTAY BLVYREAUVD %S
W — 4 5 | REES} 1:02.8 6-3 37.7| - 9 534 | WlEFE (JbigE)
oWl 4| DvEFP~Y—1 57.0 (3/4) © |4 nHsEES
RiNZ—k1—R B:A—FI7I FUIY NS
=5 it 4 | NEHRS 1:02.9 3-3 8.3 - 7 456 | A EIEAD (dt5mE)
7(8]12| US54 5.0 ) o |PEESE
RUFAVF =R BAUTYN—k VYTV RT7—L
SR—_—H~H 4 5 | BRET 1:03.4 6-5 38.3| — 8 502 |BFARFKR (LiEE)
8 7 FrR—Z=H2H5> 57.0 2172 (-4) A
RiXAYIVR—5— B:FvFIIvT AN
3 6 | IRTFHHE 1:03.5 4-7 38.4| — 1 450 | BKEAKBY (JbisiE)
9 2 | BY—=Ib 55.0 (1/72) (6 | R 77"1‘/17:-
Rib—trya—sy B:b—twv+—3 BR|t IRF«4T77—L4
~,s et :03. - . - B=RE Jbss)
1008l IVVEI R 48 A 1?23)9 10-11 | 38.0 12 (4;(; ﬁﬁ &
RIPAUAVIKRR BYAUIAT TF—SUIVFEY
s —- Pl —BA :04. - . - HEEEEsL (JbEE)
1lslelOvy7=y o4 | FEE 1%7 5-5 39.6 2 z:g;; i Sl
R:ISVTURR B:RULVAT KIFERRUS
<\ £y 5 | BNEH 1:11.0 12-12 | 44.0| - 3 477 | B)IFEE JdrmE)
12K 3| 9 nA— 57.0 (549 o |ZHRE
RIRSAVTF BioIeX I URUKIS
@ 11— —BBIENI
13—7+—
20—7F—
30—7— 1,9,12,2,6,(4,7),10,8,11,5,3
40—7+— 1,9,(4,12), (6,7),2,(5,8,10),11,3
o ILRE
B B 1 150 | | 94 & 1-9 590M4 % 3= 1-7 610M4 3EE 1-5-9 2,670M
7B B 1 110 1=5 3804 5 & 1-9 1,190 3EH 1-9-5 9,070
9 1904 5-9 1,580 Ba 1-9 1,540
5 170H

ABCDOVTIRHTERERRODDZ, THERAILZETL



